The first MC data production

Aya - Dec 8th/9th, 2005



Juliet Events
9258 events, log(E [GeV]) from 6 to 10 created by Keiichi
on npx cluster
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Basic checks 2
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Propagation Matrix Weights
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Weighted Distributions 1 (MC Truth)
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Weighted Distributions 2 (MC Truth)
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cos O

Un-weighted (MC Truth)
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First-guess Cos(()

Can we cut atmo. bg by fast reco. ?
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The start position (Firstguess vs. NPE/NDOMs)
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With Only Energy Estimator vs MC Truth
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Problems 1n the energy estimator
variables (Estimated NPE, N DOMs.)

Not so sensitive to the energy...
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Center of Brightness dependence
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cos 0

Weighted on Center of brightness R < 500 m
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cos 0

It you compare with MC Truth...

MC Truth
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UnWeighted
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